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THREE YEAR BSCS/BAS (CBCS) DEGREE EXAMINATION, APRIL 2017
SECOND SEMESTER
Part II - Mathematics

SOLID GEOMETRY
Time : 3 Hours : Max. Marks : 76

PART - A
B -
Answer any FIVE of the following questions.
D ¢ (9305 JD0FEHDVe [HPAs0[0.

‘(Marks : 5 x 5 marks = 25 marks)

1. Find the equation of the plane through (4,4,0) and perpendicular to the planes
x+2y+2z=5and 3x+3y+2z2-8=0.

(4, 4, 0) e DotLY) Kowedsds x +2y+2z =5 08a50 3x+3y+22 -8 =0 e SHodereH
VOO ) JBOB HPEBEsH 5087, 08. :

2. Find the equation of the plane through the points (2, 2,-1),(3,4,2) and (7,0,6).
(2,2,-1),(3,4,2) 28050 (7,0,6) e D0509© K06 HOH0 HEGEHN E0EY 08,

3. . Find the point of intersection of line joining (2,— 3,1), (3, -4, 5) and the plane
2x+y+2="1. : :
(2,-3,1), (3, -4, 5) 90 DOSIYHON EenP) JBEBY 8w 2x+y+2 =7 & HBOSwe 3J<5§

A\l

DOLY) EX08°,08.

4.  Find the equation of the plane through the point (1,1,1) and perpendicular to the line
x—2y+2-2=0=4x+3y—z+1.
(1,1,1) e D0t Mowrsdr x —2y+2-2=0=4x+3y -z +1 90 JESBPLH ©o0m Hosk
BB DD0EEHN 538,08,

5.  Find the equation to the sphere through 'O(O, 0,0) and making 40 interacts a,b,c an the

axis.

0(0, 0, 0) KroGDsET DETSE VTR a,b,c @ ©oHB 40 Bereomr A'E SELean E08%,08.

6. Find the centre and radius of the circle.
+y+22-2y-42-11=0,x+2y+2z-15=0.
2 +y"+2" -2y -42-11=0,x+2y+22-15=0 e Sosin, TPEganedn S0808.
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10.

1k

Show that the  plane 2x-2y+2z+12=0 touches the sphe
x*+y*+2°-2x—-4y+22z-3=0 and find the point of contact.
2x-2y+2+12=0 e Bodw x’+y°+2°-2x-4y+2z-3=0 e AR 9Hinoss

B39, J)8) VoY 8808,

Find the equation of the sphere through the circle X +y 42 -2x+3y-42+16=0
3x—4y+5z-15=0 and cutting the sphere +y+22+2x+4y-62+11=0
orthogonally. : : :

x*+y*+2°-2x+3y-42+16=0, 3x-4y+5z-15=0 e HPo IHowddsr
X+ y +28+2x +4y—62+11 =0 e AeR) owor D)B0D K¢ HR0EBesdw 87,08,

Find the equation of the cone which passes through the three co-ordinate axes and the lines

x z
¥ T g

1 <2 3 E 11
z xF o

Boro¢> QEISE eFPe 0GR Ho8aA5) %:-y—z =2 B == =§ @) B8 BYe Ko

#0%0) HRO¥BEIS K808,

X

Find the equation of the cylinder whose generator are parallel to T=%= and which

w | w

passes through the curve x2+y2=16;2=0.

T_Y 2 iy 55589% 950eobsor Hock soEdy $8a x2+y7 =16 ; z2=0 e IR

§e2é m@";’)zﬁn PDAEBEIDN §é>§6bo&.
‘PART -B
> - ®
SECTION - A
WES - D
Answer any FIVE questions.
DD &) (VK FRIEERHD0L) @AS0[0.

Choosing at least ONE question on from each Section.

(58 0505°0E5 008 2.8 [$8)50 SATERHH0 FA50H0.

(Marks : 5 x 10 marks = 50 marks)

Determine the planes through‘ the intersection of the planes 2x+3y-z+4=0,
x+3y+2z-1=0 and which are parallel to the co-ordinate axes.

2x+3y-2+4=0, x+y+2z-1=0e Bero HESIN H0E", EIIE exred SHrroddon®
P0G Bere HDosBEsRe) E208708.
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12.

13.

14.

15.

16.

17

18.

Prove that the equation 2x* —6y” ~122® +18yz+22x+xy=0 representé a pair of plans ar
find the angle between them. :
2x% —6y> —122° +18yz + 2zx +xy =0 @0 JDoEGD0 BO OLIMYRY) AIPINOED ©BI°D, T

2085 §°ea0 §:63§°bo&.
Find the equation of the line with d.c.’s professional to 7, 4,—1 which intersects of the lines

x+3 y-3 2-6
-3 2 4

x-1=-9+3y+32+6;

x+3 y-8 5-8

7,4,-1 0% eimros® 9 8 Tpe 8 ¥-1=—0+3y+32+6 ; To =" =S e

558 BPon ©oBd PoBIT 8 BEUBY SBEGER EXEY,08.

Find the S.D. between the lines £ = e = 2_3; £ = i = 2—6. Find also the
8 &« 1 -3 2 4

equation and the points in which S.D. meets the given lines.

x;3=y"18=213; x+33=y;7=z‘6 s 569 B 2oy S.D. Do SR D96k

SD 55088500 98 HESEPR PoE0D P VoKD BT E08°,06.

Find the equations of the sphere passing through the circle X+y= 4,z=0 and is
intersected by the plane x +2y+2z =0 in a circle of radius 3.

K4y =dz=0 of HBo Moo BT x+2y+22=0 oD Bery TR 3 Hotbidwy
@088 Podod Ao LTt wes EREY,08.

SECTION - B
ES - B
Find the equation of sphere for which the circle X2+ +22+Ty—-22+2=0,

2x +3y+4z = 8 is a great circle. : v
Xyt 422+ Ty-22+42=0, 2x+3y+4z=8 e Hso HEHBor Ko AY Sssedn

§:63§660&.

If r, r, are the radii of two orthogonal sphere, then the radius of the circle of their

intersection is 7, 7, / N

Botky eowdEE Ao TyTes 1,7, @ond, T @088 PoLIHVD It HB TgRGEw

5 rz/w/rlz +1; @9 WrHok.
Find the limiting points of the co-axial system defined by spheres
x4+ 9y +2° +4x+2y+22+6=0 and x* +y* +2° -4y-22+6=0.
X2+ 9y +22 +4x+2y+22+46=0 D0Ba» x*+y* +2°-4y-22+6=0 oD RereD
DEGOEBYD DI [ D53 Boo¥); @9 VosIYed 538%,08.
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20.

Find the equation to the right circular cone whose veftex is P(2,-3,5) axis PQ which makes
equal angles with j:he axis and which passes through A(1,-2,3).

P(2,-35) 3550, PQ o0 dErssges” Shrd Seren 50dr, A(l,-2,3) #osp) o 9%
50 B0 DEBEIS0 K808,

Find the equation of the enveloping cylinder of the sphere x”+ Y +2P—x+4y-1=0,
having its generating parallel to the line x =y = z.

P+ 92 +22—x+4y-1=0 o A8, x =y =2z &0 S8 BPH JdTodsone Hots esdEbyen
£0% )8 SIS0 SREGEI EREY0G.
n ®@
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